
Large Capacity Multiple Log Sawhorse BLS-3H 

IMPORTANT: Read this manual fully before assembly and 
use and observe all safety rules and operating instructions 

BULK LOG 
SAWHORSE 

BLS-3H 

en 

de 

fr 

it 

es 

https://manuals.plus/m/2b5b736a12097ee4b15f61501f931cc01d594c037b324ea665173e4e31db39ef


Bulk Log Sawhorse (BLS-3H) 

Co
nt

en
ts

 

Technical Specification 2 
Your Product 3 
Exploded View 4 
Parts List 5 
Assembly 6 
Usage 9 
Safety 11 
Warranty 12 

2 

Te
ch

ni
ca

l S
pe

ci
fic

at
io

n 

Maximum total weight of logs 250 kg 
Length 870 mm 
Overall Width 500 mm 
Internal Width 395 mm 
Overall Height 878 mm 
Maximum log diameter 395 mm 
Maximum log stack height 460 mm 
Weight 8 kg 



Bulk Log Sawhorse (BLS-3H) 3 

Thank you for purchasing the Forest Master Bulk Log Sawhorse. We hope you 
are 100% satisfied with your product but if you have any questions or queries, 
please don’t hesitate to contact us: 

Forest Master Ltd Sales 
Industry Road Heaton 
Newcastle Upon Tyne 
NE6 5XB 

Tel: +44 (0)191 265 5000 
Email: info@forest-master.com 
Website: www.forest-master.com 
Technical Enquiries Tel: +44 (0)191 276 6553, 

        Email: technical@forest-master.com 

About Your Product 
The Bulk Log Sawhorse is a large capacity sawhorse for the safe and easy 
chain-sawing of multiple logs and branches. It can hold a stack of logs 
approximately 395mm wide and 460mm high. The design ensures there is no 
framework below the logs that can interfere with the chainsaw. 

Yo
ur

 P
ro

du
ct

 



Bulk Log Sawhorse (BLS-3H) 4 

Ex
pl

od
ed

 V
ie

w
 

1 

1 

2 

2 

3 

3 

3 

5 

4 

6 

7 

8 

9 



Pa
rt

s 
Li

st
 

Item Description Qty 
1 Base Planks 2 
2 Base Clamps 6 
3 Tube End Caps 6 
4 Toothed Cross Beams 3 
5 Upright Tubes 6 
6 Log Chains 3 
7 M8x40 Bolts 6 
8 M8 Flat Washer 6 
9 M8 Nyloc Nut 6 

Bulk Log Sawhorse (BLS-3) 5 



Bulk Log Sawhorse (BLS-3H) 

As
se

m
bl

y 

6 

Step 1: 

Assemble each of the H sections inserting 
two of the uprights(5) into a toothed cross 
beam(4). Secure them in place using two of 
the M8 x 40 bolts(7), two M8 flat washers(8) 
and two M8 nuts(9). 

The bolt holes in the uprights are closer to 
one end than the other, ensure the longer 
end of the uprights is above the teeth of the 
cross beam. 

Note that the tubes on the ends of the cross 
bar have two different size holes. When 
inserting the bolts you should insert them 
into the larger hole, so that when assembled 
the head of the bolt is sitting in the large 
hole. 



As
se

m
bl

y 

Bulk Log Sawhorse (BLS-3H) 7 

Step 2: 

Attach three Base Clamps(2), to each of the Base Planks(1). The clamps 
should be mounted on the side without the markings and with the 
thumb screws locating on the top of the plank. 

Position one clamp in the centre of the plank between the 0 marks. 
Position the outer two at suitable positions, to get the required final log 
length when the logs are sawn centrally between the uprights. 

Fasten the clamps in place by tightening the thumb screws. 



Bulk Log Sawhorse (BLS-3H) 8 

As
se

m
bl

y 

Step 3: 

Insert an H section through opposite 
clamps on the base planks. 

Then push a Tube End Cap(3) over 
the protruding end of each upright. 

Note the base planks should be 
positioned so that the clamps are 
on the inside of the boards. 

Repeat with each of the other two H 
sections. 



Equal Equal 

Bulk Log Sawhorse (BLS-3H) 

U
sa

ge
 

9 

STEP 1: 

Load the logs into the H sections so 
that the overhangs outside of the H 
sections are roughly equal. 

Ensure you do not exceed the 
maximum total weight of logs given on 
page 2. 

DO NOT drop the logs onto the H 
sections as this may damage them or 
the bases. The logs should be placed 
onto the H sections. 

STEP 2: 

Take a log securing chain(6) and place 
one loop over each of the uprights of 
an H section. Note that the flat part of 
the loop to which the chain is attached 
should be angled downwards. 

Allow the chain to slide down the 
uprights so it rests on the logs. 

Repeat for the remaining securing 
chains on the other H sections. 



Bulk Log Sawhorse (BLS-3H) 10 

U
sa

ge
 

1 3 2 4 STEP 3: 

Begin cutting the logs by sawing 
the overhanging ends to the 
required length of log then saw 
down between the H sections. 

If the overhanging ends need to 
be cut into multiple logs then 
cut alternately from each end in 
order to keep the weight over 
the centre of the stand. 

It is important that the bumper spikes on the chainsaw are in contact with the 
logs before starting to cut. This is to avoid kickback and also to avoid pulling the 
sawhorse over. 



IMPORTANT SAFETY INFORMATION 

Before using the log stand always check that all nuts and bolts are secure and that 
the log stand is not damaged. 

Use the log stand on firm level ground only. Do not use on sloping or uneven 
ground. 

After securing the logs in the log stand, check the stability and balance before 
starting to cut. The log stand must not be able to tilt. 

Read and observe the operating instructions of the chainsaw you are using and 
wear all recommended safety gear. Always wear safety shoes or boots in case a log 
is accidentally dropped on your feet. 

Only cut with the bottom of the chainsaw bar as the log may otherwise shift away 
from the rotating chain, become unstable and increase the risk of personal injury. 

Clear and stack the sawn logs away from the log stand to keep the work area 
clear of obstructions and safety hazards. 

Bulk Log Sawhorse (BLS-3H) 11 

IMPORTANT: Check that the logs are secure and the log stand 
is stable before beginning to cut. 

Sa
fe

ty
 

IMPORTANT: Please read these instructions carefully. Note the safe 
operational requirements, warnings & cautions. Use the product 
correctly and with care for the purpose for which it is intended. Failure 
to do so may cause damage and/or personal injury and will invalidate 
the warranty. Please keep these instructions safe for future use. 

WARNING: Do not exceed the specified maximum total log 
weight as given on page 2 of this manual. 



Bulk Log Sawhorse (BLS-3H) 12 

W
ar

ra
nt

y 

This product carries a limited parts warranty for 1 year from the date of purchase. 
Please keep your proof of purchase as this will be required for any claim. 

Should this product become defective, contact the store where it was purchased 
and either replacement parts will be issued, it will be repaired or it will be replaced 
free of charge. 

IMPORTANT: NO RESPONSIBILITY IS ACCEPTED FOR INCORRECT USE OF THIS 
PRODUCT. 

THIS WARRANTY DOES NOT COVER: 

1. Any part that has become inoperative due to misuse, abuse, neglect, accident, 
improper maintenance, or alteration; or 

2. The unit, if it has not been operated and/or maintained in accordance with the 
owner’s manual; or 

3. Normal wear; 
4. Routine maintenance items such as lubricants, blade sharpening; 
5. Normal deterioration of the exterior finish due to use or exposure. 

TRANSPORTATION CHARGES: 

Transportation charges for the movement of any power equipment unit or 
attachment are the responsibility of the purchaser. The purchaser must pay 
transportation charges for any part submitted for replacement under this 
warranty unless such return is requested by Forest Master. 



Bulk Log Sawhorse (BLS-3H) 13 

NOTE: It is our policy to continually improve products and as such we 
reserve the right to alter data, specifications and component parts 
without prior notice. 

Manufactured under license for Forest Master Limited. 

Head Office: 
Forest Master Ltd, Industry Road, Heaton, Newcastle Upon Tyne, NE6 

5XB, United Kingdom. 
Tel: +44 191 265 5000 

Email: info@forest-master.com - web: www.forest-master.com 



Stort kapacitet för sågning av flera stockar BLS-3H

VIKTIGT: Läs denna manual noggrant före montering och 
användning och följ alla säkerhetsregler och bruksanvisningar

BULK LOG 
SÅGBÄNK 
BLS-3H

sv

de

fr

it

es



Bulk Log Sågbock (BLS-3H) 

In
ne

hå
ll 

Teknisk specifikation 2 
Din produkt 3 
Exploderad Vy 4 
Delslista 5 
Montering 6 
Användning 9 
Säkerhet 11 
Garanti 12 

2 

Te
kn

isk
 s

pe
ci

fik
at

io
n 

Maximal totalvikt för stockar 250 kg 
Längd 870 mm 
Total bredd 500 mm 
Invändig bredd 395 mm 
Total höjd 878 mm 
Maximal stockdiameter 395 mm 
Maximal stapelhöjd för stockar 460 mm 
Vikt 8 kg 



Bulk Log Sågbock (BLS-3H) 3 

Tack för att du köpte Forest Master Bulk Log Sågbock. Vi hoppas att du är 100% 
nöjd med din produkt, men om du har några frågor eller funderingar, tveka inte 
att kontakta oss: 

Forest Master Ltd Försäljning 
Industry Road Heaton 
Newcastle Upon Tyne 
NE6 5XB 

Tel: +44 (0)191 265 5000 
Email: info@forest-master.com 
Webbplats: www.forest-master.com 
Tekniska frågor Tel: +44 (0)191 276 6553, 

Email: technical@forest-master.com 

Om Din Produkt 
Bulk Log Sågbock är en sågbock med stor kapacitet för säker och enkel sågning 
av flera stockar och grenar med motorsåg. Den kan hålla en stapel av stockar 
som är ungefär 395 mm bred och 460 mm hög. Designen säkerställer att det inte 
finns någon ram under stockarna som kan störa motorsågen. 

D
in

 P
ro

du
kt

 



Bulk Log Sågbock (BLS-3H) 4 

Ex
pl

od
er

ad
 V

y

1 

1 

2 

2 

3 

3 

3 

5

4 

6 

7

8 

9 



D
e
ls
li
st
a

Produktbeskrivning Antal

1 Basplankor 2
2 Basklämmor 6
3 Rörändskydd 6
4 Kuggade tvärbalkar 3
5 Stående rör 6
6 Stockkedjor 3
7 M8x40 Bultar 6
8 M8 Platt bricka 6
9 M8 Nyloc-mutter 6

Bulk Stockbock (BLS-3) 5



Bulk Log Sågbock (BLS-3H) 

M
on

te
rin

g 

6 

Steg 1: 

Sätt ihop varje H-sektion genom att sätta in 
två av stolparna (5) i en tandad tvärbalk (4). 
Fäst dem med hjälp av två M8 x 40 bultar (7), 
två M8 brickor (8) och två M8 muttrar (9). 

Hålens placering i stolparna är närmare ena 
änden; se till att den längre delen av 
stolparna är ovanför tvärbalkens tänder. 

Observera att rören i ändarna av tvärstången 
har två olika storlekar på hålen. När du 
sätter i bultarna ska du använda det större 
hålet, så att bultens huvud hamnar i det 
stora hålet när det är monterat. 



M
on

te
rin

g 

Bulk Log Sågbock (BLS-3H) 7

Steg 2:

Fäst tre basklämmor (2) på varje basplanka (1). Klämmorna ska 
monteras på sidan utan markeringar och med tumskruvarna på 
plankans ovansida.

Placera en klämma i mitten av plankan mellan 0-märkena. Placera de 
yttre två på lämpliga platser för att få önskad slutlig vedlängd när 
stockarna sågas centralt mellan ställningarna.

Säkra klämmorna genom att dra åt tumskruvarna.



Bulk Log Sågbock (BLS-3H) 8 

M
on

te
rin

g 

Steg 3: 

För in en H-sektion genom de motsatta 
klämmorna på basplankorna. 

Sätt sedan en Rörändkåpa (3) över den 
utskjutande änden av varje upprättstående del. 

Observera att basplankorna ska 
placeras så att klämmorna är på 
insidan av brädorna. 

Upprepa med de andra två 
H-sektionerna. 



Lika Lika 

Bulk Log Sågbock (BLS-3H) 

An
vä

nd
ni

ng
 

9 

STEG 1: 

Placera stockarna i H-sektionerna så 
att överhängen utanför H-sektionerna 
är ungefär lika. 

Se till att du inte överskrider den 
maximala totalvikten för stockar som 
anges på sidan 2. 

SLÄPP INTE stockarna på 
H-sektionerna eftersom detta kan 
skada dem eller baserna. Stockarna 
ska placeras på H-sektionerna. 

STEG 2: 

Ta en kedja för att säkra stockarna (6) 
och placera en ögla över varje 
uppstående del av en H-sektion. Notera 
att den platta delen av öglan där 
kedjan är fäst ska vara vinklad nedåt. 

Låt kedjan glida ner längs de uppstående 
delarna så att den vilar på stockarna. 

Upprepa för de återstående kedjorna 
på de andra H-sektionerna. 



Bulk Log Sågbock (BLS-3H) 10 

An
vä

nd
ni

ng
 

1 3 2 4 STEG 3: 

Börja såga stockarna genom att 
kapa de utstickande ändarna till 
önskad längd och såga sedan ner 
mellan H-sektionerna. 

Om de utstickande ändarna 
behöver delas upp i flera 
stockar, såga omväxlande från 
varje ände för att hålla vikten 
centrerad på ställningen. 

Det är viktigt att stödpiggarna på motorsågen är i kontakt med stockarna innan 
du börjar såga. Detta för att undvika kast och förhindra att sågbocken välter. 



VIKTIG SÄKERHETSINFORMATION 

Kontrollera alltid att alla muttrar och bultar är ordentligt fastsatta och att 
vedstället inte är skadat innan du använder det. 

Använd vedstället endast på fast och jämn mark. Använd inte på sluttande eller 
ojämn mark. 

Efter att du säkrat vedträden i vedstället, kontrollera stabiliteten och balansen 
innan du börjar såga. Vedstället får inte kunna välta. 

Läs och följ instruktionerna för motorsågen du använder och bär all 
rekommenderad skyddsutrustning. Använd alltid skyddsskor eller stövlar ifall en 
vedbit skulle råka falla på dina fötter. 

Såga endast med motorsågens nedre del, eftersom veden annars kan flytta sig 
från den roterande kedjan, bli instabil och öka risken för personskador. 

Rensa bort och stapla de sågade vedträna bort från vedstället för att hålla 
arbetsområdet fritt från hinder och säkerhetsrisker. 

Bulk Log Sågbock (BLS-3H) 11 

VIKTIGT: Kontrollera att vedträna är säkra och att vedstället 
är stabilt innan du börjar såga. 

Sä
ke

rh
et

 

VIKTIGT: Läs dessa instruktioner noggrant. Notera de säkra driftskraven, 
varningarna och försiktighetsåtgärderna. Använd produkten korrekt och 
med omsorg för det avsedda ändamålet. Underlåtenhet att göra detta kan 
orsaka skador och/eller personskador och kommer att ogiltigförklara 
garantin. Vänligen förvara dessa instruktioner säkert för framtida bruk. 

VARNING: Överskrid inte den angivna maximala totala 
vedvikten som anges på sidan 2 i denna manual. 



Bulk Log Sågbock (BLS-3H) 12 

G
ar

an
ti 

Denna produkt har en begränsad reservdelsgaranti i 1 år från inköpsdatumet. Behåll 
kvittot, eftersom det behövs vid eventuella reklamationer. 

Om produkten blir defekt, kontakta butiken där den köptes. Antingen får du 
ersättningsdelar, så repareras den eller så ersätts den utan kostnad. 

VIKTIGT: INGEN ANSVAR TAS FÖR FELAKTIG ANVÄNDNING AV DENNA PRODUKT. 

GARANTIN OMFATTAR INTE: 

1. Delar som blivit obrukbara på grund av felaktig användning, missbruk, 
försummelse, olyckor, felaktigt underhåll eller förändringar; eller 

2. Enheten, om den inte har använts och/eller underhållits enligt bruksanvisningen; 
eller 

3. Normalt slitage; 
4. Rutinunderhåll som smörjmedel och slipning av blad; 
5. Normal försämring av ytfinishen på grund av användning eller exponering. 

TRANSPORTKOSTNADER: 

Transportkostnader för transport av någon enhet eller tillbehör är köparens 
ansvar. Köparen måste betala transportkostnader för delar som skickas för 
ersättning under denna garanti, om inte returen begärs av Forest Master. 



Bulk Log Sågbock (BLS-3H) 13 

OBS: Vår policy är att ständigt förbättra produkter och därför 
förbehåller vi oss rätten att ändra data, specifikationer och 
komponentdelar utan föregående meddelande. 

Tillverkas under licens för Forest Master Limited. 

Huvudkontor: 
Forest Master Ltd, Industry Road, Heaton, Newcastle Upon Tyne, NE6 

5XB, Storbritannien. 
Tel: +44 191 265 5000 

E-post: info@forest-master.com - web: www.forest-master.com 



Grote Capaciteit Meervoudige Zaagbok BLS-3H 

BELANGRIJK: Lees deze handleiding volledig door voordat u begint met 
monteren en gebruik, en volg alle veiligheidsregels en bedieningsinstructies op 

BULK 
ZAAGBOK 

BLS-3H 

en 

de 

fr 

it 

es 



Bulk Log Zaagbok (BLS-3H) 

In
ho

ud
 

Technische Specificaties 2 
Uw Product 3 
Ontplofte Weergave 4 
Onderdelenlijst 5 
Montage 6 
Gebruik 9 
Veiligheid 11 
Garantie 12 

2 

Te
ch

ni
sc

he
 S

pe
ci

fic
at

ie
s 

Maximale totale gewicht van stammen 250 kg 
Lengte 870 mm 
Totale Breedte 500 mm 
Interne Breedte 395 mm 
Totale Hoogte 878 mm 
Maximale diameter van de stam 395 mm 
Maximale stapelhoogte van stammen 460 mm 
Gewicht 8 kg 



Bulk Log Zaagbok (BLS-3H) 3 

Bedankt voor uw aankoop van de Forest Master Bulk Log Zaagbok. We hopen 
dat u 100% tevreden bent met uw product. Mocht u vragen of opmerkingen 
hebben, neem dan gerust contact met ons op: 

Forest Master Ltd Verkoop 
Industry Road Heaton 
Newcastle Upon Tyne 
NE6 5XB 

Tel: +44 (0)191 265 5000 
Email: info@forest-master.com 
Website: www.forest-master.com 
Technische Vragen Tel: +44 (0)191 276 6553, 

Email: technical@forest-master.com 

Over Uw Product 
De Bulk Log Zaagbok is een zaagbok met grote capaciteit voor het veilig en eenvoudig 
zagen van meerdere stammen en takken met een kettingzaag. Het kan een stapel hout 
van ongeveer 395mm breed en 460mm hoog ondersteunen. Het ontwerp zorgt ervoor 
dat er geen frame onder de stammen zit dat de kettingzaag kan hinderen. 

U
w

 P
ro

du
ct

 



Bulk Log Zaagbok (BLS-3H) 4 

O
nt

pl
of

te
 W

ee
rg

av
e 

1 

1 

2 

2 

3 

3 

3 

5 

4 

6 

7 

8 

9 



O
nd

er
de

le
nl

ijs
t 

Artikelbeschrijving Aantal 

1 Basisplanken 2 
2 Basis Klemmen 6 
3 Eindkappen voor Buis 6 
4 Getande Dwarsbalken 3 
5 Staande Buis 6 
6 Boomkettingen 3 
7 M8x40 Bouten 6 
8 M8 Platte Ring 6 
9 M8 Nyloc Moer 6 

Bulk Zaagbok (BLS-3) 5 



Bulk Log Zaagbok (BLS-3H) 

M
on

ta
ge

 

6 

Stap 1: 

Monteer elk van de H-secties door twee van 
de staanders (5) in een getande dwarsbalk 
(4) te plaatsen. Zet ze vast met twee M8 x 40 
bouten (7), twee M8 platte ringen (8) en 
twee M8 moeren (9). 

De boutgaten in de staanders zitten dichter bij 
het ene uiteinde dan het andere, zorg ervoor 
dat het langere uiteinde van de staanders 
boven de tanden van de dwarsbalk uitkomt. 

Let op dat de buizen aan de uiteinden van de 
dwarsbalk twee verschillende maten gaten 
hebben. Bij het plaatsen van de bouten moet 
je ze in het grotere gat steken, zodat het 
hoofd van de bout in het grote gat zit als het 
gemonteerd is. 



M
on

ta
ge

 

Bulk Log Zaagbok (BLS-3H) 7 

Stap 2: 

Bevestig drie basis-klemmen (2) aan elk van de basisplanken (1). De 
klemmen moeten worden gemonteerd aan de zijde zonder 
markeringen, met de duimschroeven bovenop de plank. 

Plaats één klem in het midden van de plank tussen de 0-markeringen. Plaats de 
andere twee op geschikte posities, zodat je de gewenste eindlengte van het 
hout krijgt wanneer het hout centraal tussen de steunen wordt gezaagd. 

Bevestig de klemmen door de duimschroeven aan te draaien. 



Bulk Log Zaagbok (BLS-3H) 8 

M
on

ta
ge

 

Stap 3: 

Steek een H-sectie door de tegenoverliggende 
klemmen op de basisplanken. 

Duw vervolgens een Buis Eindkap(3) over het 
uitstekende uiteinde van elke staander. 

Let op dat de basisplanken zo geplaatst 
moeten zijn dat de klemmen aan de 
binnenkant van de planken zitten. 

Herhaal dit met elk van de andere 
twee H-secties. 



Gelijk Gelijk 

Bulk Log Zaagbok (BLS-3H) 

G
eb

ru
ik

 

9 

STAP 1: 

Leg de stammen in de H-secties zodat 
de overhang aan beide zijden 
ongeveer gelijk is. 

Zorg ervoor dat je het maximale totale 
gewicht van de stammen, zoals op 
pagina 2 vermeld, niet overschrijdt. 

Laat de stammen niet in de H-secties vallen, 
omdat dit schade kan veroorzaken aan de 
secties of de basis. De stammen moeten 
voorzichtig worden geplaatst. 

STAP 2: 

Neem een boomstam-bevestigingsketting 
(6) en plaats een lus over elk van de 
staanders van een H-sectie. Let op dat het 
platte deel van de lus, waaraan de ketting 
is bevestigd, naar beneden gericht is. 

Laat de ketting langs de staanders naar beneden 
glijden zodat deze op de stammen rust. 

Herhaal dit voor de overige 
bevestigingskettingen op de andere H-secties. 



Bulk Log Zaagbok (BLS-3H) 10 

G
eb

ru
ik

 

1 3 2 4 STAP 3: 

Begin met het zagen van de stammen 
door de uitstekende uiteinden op de 
gewenste lengte te zagen en vervolgens 
tussen de H-secties door te zagen. 

Als de uitstekende uiteinden in 
meerdere stammen moeten worden 
gezaagd, zaag dan afwisselend vanaf 
elk uiteinde om het gewicht in het 
midden van de bok te houden. 

Het is belangrijk dat de stootspikes van de kettingzaag contact maken met de 
stammen voordat je begint met zagen. Dit voorkomt terugslag en zorgt ervoor 
dat de zaagbok niet omvalt. 



BELANGRIJKE VEILIGHEIDSINFORMATIE 

Controleer altijd of alle moeren en bouten stevig vastzitten en of de 
houtstandaard niet beschadigd is voordat je deze gebruikt. 

Gebruik de houtstandaard alleen op stevige, vlakke grond. Niet gebruiken op 
hellend of oneffen terrein. 

Nadat de houtblokken in de standaard zijn vastgezet, controleer dan de stabiliteit en 
het evenwicht voordat je begint met zagen. De standaard mag niet kunnen kantelen. 

Lees en volg de gebruiksaanwijzing van de kettingzaag die je gebruikt en draag 
alle aanbevolen veiligheidsuitrusting. Draag altijd veiligheidsschoenen of -laarzen 
voor het geval er per ongeluk een houtblok op je voeten valt. 

Zaag alleen met de onderkant van het kettingzaagblad, anders kan het houtblok 
verschuiven, instabiel worden en het risico op letsel vergroten. 

Ruim de gezaagde houtblokken op en stapel ze weg van de houtstandaard om de 
werkruimte vrij van obstakels en veiligheidsrisico's te houden. 

Bulk Log Zaagbok (BLS-3H) 11 

BELANGRIJK: Controleer of de houtblokken stevig vastzitten 
en de houtstandaard stabiel is voordat je begint met zagen. 

Ve
ili

gh
ei

d 

BELANGRIJK: Lees deze instructies zorgvuldig. Let op de veilige 
gebruiksvereisten, waarschuwingen en voorzorgsmaatregelen. Gebruik het 
product correct en zorgvuldig voor het beoogde doel. Het niet naleven 
hiervan kan schade en/of persoonlijk letsel veroorzaken en de garantie 
ongeldig maken. Bewaar deze instructies voor toekomstig gebruik. 

WAARSCHUWING: Overschrijd niet het aangegeven maximale totale gewicht 
van de houtblokken zoals vermeld op pagina 2 van deze handleiding. 



Bulk Log Zaagbok (BLS-3H) 12 

G
ar

an
tie

 

Dit product heeft een beperkte garantie op onderdelen van 1 jaar vanaf de 
aankoopdatum. Bewaar uw aankoopbewijs, want dit is nodig voor eventuele claims. 

Als dit product defect raakt, neem dan contact op met de winkel waar het is 
gekocht. Er worden dan vervangende onderdelen verstrekt, het product wordt 
gerepareerd of gratis vervangen. 

BELANGRIJK: ER WORDT GEEN VERANTWOORDELIJKHEID AANVAARD VOOR 
ONJUIST GEBRUIK VAN DIT PRODUCT. 

DEZE GARANTIE DEKT NIET: 

1. Onderdelen die niet meer werken door verkeerd gebruik, misbruik, 
verwaarlozing, ongeluk, onjuiste onderhoud of wijzigingen; of 

2. De eenheid als deze niet is bediend en/of onderhouden volgens de handleiding; 
of 

3. Normale slijtage; 
4. Routineonderhoud zoals smeermiddelen en het slijpen van messen; 
5. Normale verwering van de buitenkant door gebruik of blootstelling. 

VERVOERSKOSTEN: 

Transportkosten voor het verplaatsen van een apparaat of onderdeel zijn voor 
rekening van de koper. De koper moet de transportkosten betalen voor elk 
onderdeel dat wordt ingediend voor vervanging onder deze garantie, tenzij Forest 
Master om de retour vraagt. 



Bulk Log Zaagbok (BLS-3H) 13 

OPMERKING: Wij streven ernaar onze producten voortdurend te verbeteren 
en behouden ons daarom het recht voor om gegevens, specificaties en 
onderdelen zonder voorafgaande kennisgeving te wijzigen. 

Geproduceerd onder licentie voor Forest Master Limited. 

Hoofdkantoor: 
Forest Master Ltd, Industry Road, Heaton, Newcastle Upon Tyne, NE6 

5XB, Verenigd Koninkrijk. 
Tel: +44 191 265 5000 

E-mail: info@forest-master.com - web: www.forest-master.com 



Piła kozłowa o dużej pojemności BLS-3H 

WAŻNE: Przed rozpoczęciem montażu i użytkowania przeczytaj uważnie ten podręcznik 
oraz przestrzegaj wszystkich zasad bezpieczeństwa i instrukcji obsługi 

Piła do cięcia 
drewna 
BLS-3H 

ang 

niem 

fr 

wł 

hiszp 



Podpora do cięcia drewna masowego (BLS-3H) 

Sp
is 

tr
eś

ci
 

Specyfikacja techniczna 2 
Twój produkt 3 
Widok rozłożony 4 
Lista części 5 
Montaż 6 
Użytkowanie 9 
Bezpieczeństwo 11 
Gwarancja 12 

2 

Sp
ec

yfi
ka

cj
a 

te
ch

ni
cz

na
 

Maksymalna łączna waga kłód 250 kg 
Długość 870 mm 
Szerokość całkowita 500 mm 
Szerokość wewnętrzna 395 mm 
Wysokość całkowita 878 mm 
Maksymalna średnica kłody 395 mm 
Maksymalna wysokość stosu kłód 460 mm 
Waga 8 kg 



Podpora do cięcia drewna masowego (BLS-3H) 3 

Dziękujemy za zakup Dużej Kobyły do Cięcia Drewna marki Forest Master. Mamy 
nadzieję, że jesteś w pełni zadowolony z produktu, ale jeśli masz jakiekolwiek 
pytania, śmiało się z nami skontaktuj: 

Forest Master Ltd Sprzedaż 
Industry Road Heaton 
Newcastle Upon Tyne 
NE6 5XB 

Tel: +44 (0)191 265 5000 
Email: info@forest-master.com 
Strona internetowa: www.forest-master.com 
Zapytania techniczne Tel: +44 (0)191 276 6553, 

Email: technical@forest-master.com 

Informacje o produkcie 
Duża Kobyła do Cięcia Drewna to urządzenie o dużej pojemności, umożliwiające 
bezpieczne i łatwe cięcie drewna i gałęzi piłą łańcuchową. Może pomieścić stos drewna 
o szerokości około 395 mm i wysokości 460 mm. Konstrukcja zapewnia, że nie ma 
żadnych elementów pod drewnem, które mogłyby przeszkadzać w pracy piły. 

Tw
ój

 p
ro

du
kt

 



Podpora do cięcia drewna masowego (BLS-3H) 4 

W
id

ok
 ro

zł
oż

on
y 

1 

1 

2 

2 

3 

3 

3 

5 

4 

6 

7 

8

9 



Li
st

a 
cz

ęś
ci

 

Opis przedmiotu Ilość 
1 Deski bazowe 2 
2 Zaciski bazowe 6 
3 Zaślepki rur 6 
4 Belki poprzeczne z zębami 3 
5 Rury pionowe 6 
6 Łańcuchy do kłód 3 
7 Śruby M8x40 6 
8 Podkładki płaskie M8 6 
9 Nakrętki samokontrujące M8 6 

Koń na kłody (BLS-3) 5 



Podpora do cięcia drewna masowego (BLS-3H) 

M
on

ta
ż

6 

Krok 1: 

Złóż każdą z sekcji H, wkładając dwie 
pionowe belki (5) do zębatej belki 
poprzecznej (4). Zamocuj je przy użyciu 
dwóch śrub M8 x 40 (7), dwóch podkładek 
płaskich M8 (8) i dwóch nakrętek M8 (9). 

Otwory na śruby w pionowych belkach są 
bliżej jednego końca niż drugiego, upewnij 
się, że dłuższy koniec belek znajduje się nad 
zębami belki poprzecznej. 

Zauważ, że rurki na końcach belki 
poprzecznej mają otwory o dwóch różnych 
rozmiarach. Podczas wkładania śrub, umieść 
je w większym otworze, aby po złożeniu 
główka śruby znajdowała się w dużym 
otworze. 



M
o
n
ta
ż

Podpora do cięcia drewna masowego (BLS-3H) 7 

Krok 2: 

Przymocuj trzy zaciski podstawy (2) do każdej z desek podstawy (1). 
Zaciski powinny być zamontowane po stronie bez oznaczeń, z 
nakrętkami dociskowymi skierowanymi na górę deski. 

Umieść jeden zacisk w środku deski pomiędzy oznaczeniami 0. Dwa zewnętrzne 
umieść w odpowiednich miejscach, aby uzyskać wymaganą końcową długość 
drewna, gdy pnie są przecinane centralnie pomiędzy pionowymi elementami. 

Zamocuj zaciski na miejscu, dokręcając nakrętki dociskowe. 



Podpora do cięcia drewna masowego (BLS-3H) 8

M
on

ta
ż

Krok 3:

Przełóż element w kształcie litery H przez 
przeciwległe zaciski na deskach podstawy.

Następnie nałóż końcówkę rury (3) na wystający 
koniec każdego pionowego elementu.

Upewnij się, że deski podstawy są 
ustawione tak, aby zaciski 
znajdowały się wewnątrz desek.

Powtórz z pozostałymi dwoma 
elementami w kształcie litery H.



Równo Równo 

Podpora do cięcia drewna masowego (BLS-3H) 

Za
st

os
ow

an
ie

 

9 

KROK 1: 

Umieść kłody w sekcjach H tak, aby 
ich występy poza sekcjami były mniej 
więcej równe. 

Upewnij się, że nie przekraczasz 
maksymalnej całkowitej wagi kłód 
podanej na stronie 2. 

NIE upuszczaj kłód na sekcje H, 
ponieważ może to je uszkodzić lub 
uszkodzić podstawy. Kłody powinny 
być kładzione na sekcje H. 

KROK 2: 

Weź łańcuch do zabezpieczania kłód (6) i 
załóż jedną pętlę na każdą pionową część 
sekcji H. Zauważ, że płaska część pętli, do 
której przymocowany jest łańcuch, 
powinna być skierowana w dół. 

Pozwól łańcuchowi zsunąć się po pionowych 
częściach, tak aby spoczywał na kłodach. 

Powtórz dla pozostałych łańcuchów 
zabezpieczających na innych sekcjach H. 



Podpora do cięcia drewna masowego (BLS-3H) 10 

Za
st

os
ow

an
ie

 

1 3 2 4 KROK 3: 

Rozpocznij cięcie drewna, 
przycinając wystające końce do 
wymaganej długości, a następnie 
przetnij pomiędzy sekcjami H. 

Jeśli wystające końce trzeba 
podzielić na kilka kawałków, tnij 
na przemian z każdej strony, 
aby utrzymać ciężar nad 
środkiem stojaka. 

Ważne jest, aby kolce zderzakowe na piłę łańcuchową były w kontakcie z 
drewnem przed rozpoczęciem cięcia. To pomoże uniknąć odskoku oraz 
przewrócenia stojaka. 



WAŻNE INFORMACJE DOTYCZĄCE BEZPIECZEŃSTWA

Przed użyciem stojaka na drewno zawsze sprawdź, czy wszystkie śruby i nakrętki 
są dobrze dokręcone i czy stojak nie jest uszkodzony.

Używaj stojaka na drewno wyłącznie na stabilnym i równym podłożu. Nie używaj 
na pochyłym lub nierównym terenie.

Po zabezpieczeniu kłód w stojaku sprawdź ich stabilność i równowagę przed 
rozpoczęciem cięcia. Stojak nie może się przechylać.

Przeczytaj i przestrzegaj instrukcji obsługi piły łańcuchowej, której używasz, oraz 
załóż wszystkie zalecane środki ochrony osobistej. Zawsze noś buty ochronne na 
wypadek, gdyby kłoda przypadkowo upadła na stopy.

Tnij wyłącznie dolną częścią prowadnicy piły łańcuchowej, aby kłoda nie przesunęła się od 
obracającego się łańcucha, co mogłoby spowodować jej niestabilność i zwiększyć ryzyko urazu.

Usuń i układaj pocięte kłody z dala od stojaka, aby obszar roboczy był wolny od 
przeszkód i zagrożeń.

Podpora do cięcia drewna masowego (BLS-3H) 11

WAŻNE: Upewnij się, że kłody są zabezpieczone, a stojak jest 
stabilny przed rozpoczęciem cięcia.

Be
zp

ie
cz

eń
st

w
o

WAŻNE: Proszę dokładnie przeczytać te instrukcje. Zwróć uwagę na 
wymagania dotyczące bezpiecznej eksploatacji, ostrzeżenia i uwagi. 
Używaj produktu prawidłowo i ostrożnie, zgodnie z jego przeznaczeniem. 
Nieprzestrzeganie tego może spowodować uszkodzenia i/lub obrażenia 
oraz unieważnić gwarancję. Proszę zachować te instrukcje na przyszłość.

OSTRZEŻENIE: Nie przekraczaj maksymalnej całkowitej 
wagi kłód podanej na stronie 2 tej instrukcji.



Podpora do cięcia drewna masowego (BLS-3H) 12 

G
w

ar
an

cj
a 

Ten produkt objęty jest ograniczoną gwarancją na części na okres 1 roku od daty zakupu. Proszę 
zachować dowód zakupu, ponieważ będzie on wymagany przy składaniu reklamacji. 

W przypadku uszkodzenia produktu, skontaktuj się ze sklepem, w którym został 
zakupiony, aby otrzymać części zamienne, naprawę lub wymianę bez dodatkowych 
opłat. 

WAŻNE: NIE PONOSIMY ODPOWIEDZIALNOŚCI ZA NIEPRAWIDŁOWE 
UŻYTKOWANIE TEGO PRODUKTU. 

TA GWARANCJA NIE OBEJMUJE: 

1. Części, które stały się niesprawne z powodu niewłaściwego użytkowania, zaniedbania, 
wypadku, niewłaściwej konserwacji lub modyfikacji; 

2. Urządzenia, jeśli nie było używane i/lub konserwowane zgodnie z instrukcją obsługi; 
3. Normalnego zużycia; 
4. Rutynowych czynności konserwacyjnych takich jak smarowanie, ostrzenie ostrzy; 
5. Zwykłego pogorszenia stanu zewnętrznego wykończenia na skutek użytkowania lub 

ekspozycji. 

KOSZTY TRANSPORTU: 

Koszty transportu związane z przewozem jakiegokolwiek urządzenia zasilanego 
lub akcesorium ponosi kupujący. Kupujący musi pokryć koszty transportu każdej 
części zgłoszonej do wymiany na podstawie tej gwarancji, chyba że zwrot 
zostanie zlecony przez Forest Master. 



Podpora do cięcia drewna masowego (BLS-3H) 13 

UWAGA: Naszą polityką jest ciągłe doskonalenie produktów, dlatego 
zastrzegamy sobie prawo do zmiany danych, specyfikacji i części 
składowych bez wcześniejszego powiadomienia. 

Wyprodukowane na licencji dla Forest Master Limited. 

Siedziba główna: 
Forest Master Ltd, Industry Road, Heaton, Newcastle Upon Tyne, NE6 

5XB, Wielka Brytania. 
Tel: +44 191 265 5000 

Email: info@forest-master.com - strona internetowa: www.forest-master.com 


